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QUESTION 1

Scenario: An administrator set up a NetScaler in an HA configuration. When the Primary node was rebooted due to a
power failure, the failover did NOT occur as expected.

Which configuration settings must have prevented the failover in the above scenario?
A. Primary node is set to fail-safe mode.

B. Primary node is set to stay secondary.

C. Secondary node is set to do not failover.

D. Secondary node is set to stay secondary.

Correct Answer: D

QUESTION 2

Which load balancing method should an administrator configure so that all requests coming from a specified network
are sent to the same server?

A. Domain Hash

B. Source IP Hash

C. Destination IP Hash

D. Source IP/Destination IP Hash

Correct Answer: B

QUESTION 3

Scenario: An administrator introduced two new servers into a server farm; the servers can handle more traffic than the
older servers. The current load balancing method set for the virtual server managing the traffic for this group of servers
is least connections. The administrator wants to maintain that load balancing method but also wants to use the new
servers to improve performance by sending more traffic to them than to the older servers.

Which advanced option must the administrator configure to achieve this?

A. Max Client

B. Service Weights

C. Backup virtual server

D. Global Setting Override

E. Connection-based Spillover
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Correct Answer: B

QUESTION 4

An administrator needs to configure a NetScaler-owned IP address for server-side connections in an environment in
which USNIP mode is globally enabled on the NetScaler system.

Which step must the administrator take to meet the needs of this scenario?

A. Add an IP of type SNIP.

B. Ensure USIP mode is enabled globally.

C. Configure VIPs instead of SNIPs for the server-side connections.

D. Enable USNIP mode on the virtual server entities bound to the back-end servers.

Correct Answer: A

QUESTION 5

Which page is displayed to the user if a catch-all policy is NOT defined on a content switching virtual server configured
on the NetScaler?

A. Users get an HTTP/1/.1 Error.

B. Users get an Access Denied Page.

C. The policy with the lowest priority gets evaluated.

D. Users are redirected to the page configured in the redirectURL parameter of the CSV server.

Correct Answer: A
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